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PART A: Vocabulary

Directions: Cheose the word or phrase (1), (2); (3); or (4) that best completes cach
sentence. Then mark the correct cheice on your answer sheet.

o
1-  The rise in unemployment was just a further ——--——-- of the government’s incompetence.
1) inclination 2) approximation 3) modification 4) manifestation
2-  The country’s most valuable agricultural -————- —— include wheat and rice.
1) revenues 2) attributes 3) proportions 4) commodities
3-  These changes are a(an)—-—- -~ to wide-ranging reforms.
1) prelude 2) allocation 3) schedule 4) implication
4-  Honesty is a very attractive character —---——--- .
1) trait 2) prospect 3) conviction 4) outcome
5-  The driver was found guilty on -=---e-u-- the speed limit.
1) pursuing 2) enhancing 3) exceeding 4) surpassing
6- The members of the committee will be ——------ on October 25,
1) restoring 2) locating 3) convening 4) accompanying
7-  The region needs housing which is strong enough to -————— severe wind and storms.
1) object 2) recline 3) diminish 4) withstand
8- Two decades -------— between the completion of the design and the operation of the dam.
1) overlapped 2) intervened 3) transferred 4) overwhelmed
9- The ——-—-- goal of this research is to gather data on the process of first language acquisition.
1) principal 2) successive 3) continual 4) insightful
10- Flexibility is ------v--- to creative management.
1) intrinsic 2) compatible 3) forthcoming 4) contemporary

| PART B: Grammar

Directions: Read the following passage and decide which choice (1), (2), (3), or (4)

| best fits each space. Then mark the correct choice on vour answer sheet. |

The computerevolved from meehanical calculating machines that could do arithmetic by having
cogs and levers that turned and moved (11) ---------- numbers. The first one was built by the French
inventor Blaise Pascal in 1642, Pascal’s calculating machine was improved over the next 200 years,
and in 1833 the British mathematician Charles Babbage designed a machine (12) ------—-- be
“programmed™ to carry out different mathematical operations. This machine was called the
Analytical Engine. It (13) ---------- to have the mechanical equivalent of the input, processing,
memory, and output units found in today’s electronic computers.

Owver a hundred years (14) »-------—, in 1944, a mechanical computer, powered by electricity, was
completed in the United States on Baddage's principle. (15) ---------- , In the previous year, the first
electronic computer had been built in Britain. It was called Colossus and was used to crack enemy
codes during World War IL

11- 1) representing 2) to represent 3) for representing 4) from representing
12- 1) which can 2) that could 3) where it can 4) where it could
13- 1) meant 2) was meant 3) had the meaning 4) was the meaning
14- 1) subsequent 2) next 3) later 4) following

15- 1) Since then 2) Therefore 3) However 4) Afterwards
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PART C: Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3), or
{J. Then mark it on your answer sheet. '

Using a scythe is called mowing. Mowing is done by holding the top handle in the left
hand and the central one in the right, with the arms straight, the blade parallel to the
ground and very close to it, and the body twisted to the right. The body is then twisted
steadily to the left, moving the scythe blade along its length in a long arc from right to
left, ending in front of the mower, thus depositing the cut grass to the left. Mowing
proceeds with a steady rhythm, stopping at frequent intervals to sharpen the blade,
The correct technique has a slicing action on the grass, cutting a narrow strip with
each stroke — a common beginner's error is to chop or hack at the grass, with the blade
length at right angles to it, thus trying to cut too wide a strip of grass at once. This is
much harder work, and is ineffective. Cutting too ¢lose to the ground can contaminate
the blade with soil, rapidly blunting it: Much of the skill is in keeping the blade close
to the ground and the cuts even. Mowing is normally done cutting out of the uncut
grass, the mower moving along the mowing-edge with the uncut grass to their right.
The cut grass is laid in a neat row to the left, on the previously mown land. Each strip
of ground mown by a scythe is called & swathe or swath. Mowing may be done by a
team of mowers, usually starting at the edges of a meadow then proceeding clockwise
and finishing in the middle. Mowing grass is easier when it is damp, and so hay-
making traditionally began at dawn and often stopped early.

The passage states that in mowing

1) the body close to the ground 2) there are up to three parallel blades

3) we should not cut too close to the soil 4) the right arm should be in the central handle
It is mentioned in the passage that in mowing the —

1) cuts are to be of equal width 2) rthythm of the blade sharpens it

3) scythe forms a long arc onits blade 4) cut strips should be gradually widened

The passage points to the fact that in mowing the ——————-.

1) uncut grass is on the right side of the mower  2) mower and the grass are placed at right angles
3) team of mowers move clockwise in the middle 4) mowing edge ends in the middle of the meadow
The passage mentions that the best time to start mowing is

1) after sunrise 2) just before sunrise 3) a little after sunset  4) early in the evening
The word ‘hack’ in the passage (underlined) means ‘to cut with —————- blows’.
1) “light’ 2) ‘vertical’ 3) ‘irregular’ 4) *horizontal’
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In sprinkler or overhead irrigation, water is piped to one or more central locations
within the field and distributed by overhead high-pressure sprinklers or guns. A
system utilizing sprinklers, sprays, or guns mounted overhead on permanently
installed risers is often referred to as a solid-set irrigation system. Higher pressure
sprinklers that rotate are called rafors and are driven by a ball drive, gear drive, or
impact mechanism. Rotors can be designed to rotatein a full or partial circle. Guns
are similar to rotors, except that they generally operate at very high pressures of 40 to
130 Ibffin? and flows of 50 to 1200 US gal/min, usually with nozzle diameters in the
range of 0.5 to 1.9 inches. Guns are used not only for irrigation, but also for industrial
applications such as dust suppression and logging. Sprinklers may also be mounted on
moving platforms connected to the water source by a hose. Automatically moving
wheeled systems known as traveling sprinklers may irrigate areas such as small farms,
sports fields, parks, pastures, and cemeteries unattended. Most of these utilize a length
of polyethylene tubing wound on a steel drum. As the tubing is wound on the drum
powered by the irrigation water or a small gas engine, the sprinkler is pulled across
the field. When the sprinkler arrives back at the reel the system shuts off. This type of
system is known to most people as a "waterreel" traveling irrigation sprinkler and
they are used extensively for dust suppression, irrigation,.and land application of
waste water. Other travelers use a flat rubber hose that is dragged along behind while
the sprinkler platform is pulled by a cable.

It is stated in the passage that - .

1) sprays or guns are mounted permanently on installed risers

2) rotating high pressure sprinklers can be driven'by gear drive

3) solid set irrigation systems are utilized as sprinklers or sprays
4) high-pressure guns are distributed in central locations in a field

The passage points to the fact that
1) guns are not effective for dust suppression

3) nozzle diameter in a rotor depends on its gun
The passage mentions that -—

2) irrigation is an industrial logging application
4) rotors do not operate at very high pressures

Ll

1) small gas engines pull sprinklers across the field

2) moving platforms are usually connected by a hose

3) traveling sprinklers do not need anyone to operaté them
4) pastures and cemeteries do not need much irrigation

Which of the following about waterreel travelling irrigation sprinklers is TRUE according to

the passage?

1) Their most extensive use is in dust suppression.

2} They are used for land application of waste water.

3) The flat rubber hose in them is dragged behind them.

4) The reel system in them should be shut off manually,

The word ‘wound” in the passage (underlined) is best related to the word ———-———,

I} ¢g¢t1

2) ‘set’ 3) ‘take’ 4) ‘turn’
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Broadcast seeders can be roughly divided into three groups. The smallest group can
be carried or pushed while spreading seed or fertilizer. The next size up is designed to
be towed behind a garden tractor or ATV. Very similar in size to the tow behind units
are broadeast seeders that mount to the 3pt hitch of a compact utility tractor, these are
ideal for landscape and small property maintenance. The largest size units are
commercial broadcast seeders designed and sized appropriately for agricultural
tractors and mount to the tractor's 3pt hitch. The broadcast seeders that are mounted to
a 3pt hitch are powered by a power take off (PTO) shaft from the tractor. The basic
operating concept of broadcast spreads is simple. A large material hopper is
positioned over a horizontal spinning disk, the disk has a series of 3 or 4 fins attached
to it which throw the dropped materials from the hopper out and away from the
seeder. Alternately a pendulum spreading mechanism may be employed, this method
is more common in large commercial seeders. The material hopper are commonly
made of plastic, painted steel or galvanized steel. Some seeders have directional fins
to control the direction of the material that is thrown from the seeder. All broadcast
seeders require some form of power to spin the disk. On hand carried units, a hand
crank spins gears to tumn the disk. On tow behind units, the wheels spin a shaft that
turns gears which, in turn, spin the disk. With tractor mounted units, a mechanical
P.T.O. shaft connected to the tractor and controlled by the tractor operator, spins the
disk. There are some seeders made for garden size tractors that use a 12 volt motor to

spin the dispersing disk.
The passage points to the fact that broadcast seeders are ——
1) all portable 2) ulecmc-powm:d
3) also seed-fertilisers 4) part of a garden tractor

The passage mentions that in broadcast seeders ————,

1) dropped materials from a hopper are thrown from a disk’s 3-4 fins
2) landscape maintenance is performed through a tractor’s PTO shaft
3) 3pt hitches can be attached to both commereial and garden tractors
4) the two behind units are very similar in size to a commercial tractor
It is stated in the passage that
1) small ATVs can use power take off shaﬁs

2) some seeders are actually powered by hand

3) commercial seeders are made of plastic and stecl
4) seeder’s spreading mechanism is like a pendulum
" A broadcast seeder may NOT have a

1) ‘crank’ 2) ‘disk’ 3'} ‘hopper’ 4) *hitch’
The word *spin’ in the passage (underlined) is closest to .
1) ‘pull’ 2) ‘push’ 3) “tumn’ 4) ‘shake’
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